Unit 8 (Squirrels are smaller than deer)

Pupil’s book page 33 ex 2 (Listen and say
right or wrong)

@ <> ( Listen and say right or wrong )

A jockal is emaller
than a deer.

Tapescript

1. A jackal is bigger than a deer.
2. A squirrel is smaller than a wolf.
3. A deer is taller than a wolf.
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4. A squirrel is bigger than a deer.
5. A wolf is more dangerous than a squirrel.

Answers

1. A jackal is smaller than a deer.

2. A squirrel is smaller than a wolf.

3.A deer is taller than a wolf.

4. A squirrel is smaller than a deer.

5. A wolf is more dangerous than a squirrel.

Pupil’s book page 33 ex 3 (Look and say)

1. An elephant is bigger than a cat.

2. A giraffe is taller than a cat.

3. A frog is smaller than an owl.

4. A lion is more dangerous than a cat.
5. A bear is bigger than a cat.

6. An eagle is bigger than an owl
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Activity book page 32 ex 3 (Complete)

1. (big Abusis Fn'ﬁ_r;.'pr them a cor.
2. (smoll) An olive is an opple.
3. (tall) Atroeis aflower.

alomb.

4. {dongerous) A lecpard is

1.A bus is bigger than a car.

2. An olive is smaller than an apple.

3. A tree is taller than a flower.

4. A leopard is more dangerous than a lamb.

Activity book page 32 ex 4 (Read, look and
complete)
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€3 (Read, look and complete

The cot is bigger than the frog. It's smaoller thon the lion.

The elephant is (I} Tim I rtham the giraffe.
[t's bigger than the ll-:m the cat and the frog!

The giraffe is (2) the lion,

but it's (3) the elephont
Tha lion is (4) the giraffe,
but it's (5) the cat.

The frog is (6) the cat.

it's smaller than the lion, the giraffe ond the elephont.

J|I|.

eepﬂun J|ru’:re

. The cat is bigger than the frog. It’s smaller than
the lion.

. The elephant isbigger thanthe giraffe. It’s
bigger than the lion, the cat and the frog!

. The giraffe isbigger thanthe lion, but
it’s smaller than the elephant.

. The lion issmaller thanthe giraffe, but
it’s bigger than the cat.

. The frog is smaller than the cat. It's smaller than
the lion, the giraffe and the elephant.
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Activity book page 33 ex 6 (Read, complete
and say)

(3 ( Read, complete and say

Z:-b'lg frightened fost  pratly Mﬁ

A little deer livas in the forest. It is {I) —oifer thom——— the other

deer. The other deer are (2) the little deer. it can

run fast, but the other deer can run (3} it can.

People walk in the forest in the spring. in the spring, the flowers are

(4) ———— in the autumn. The little deer is frightened of

people. It is (%) of people than the other deer.

£

A little deer lives in the forest. It issmaller
than the other deer. The other deerare
bigger than the little deer. It can run fast, but the
other deer can run faster than it can. People walk
in the forest in the spring. In the spring, the
flowers are prettier than in the autumn. The little
deer is frightened of ©people. It s
more frightened of people than the other deer.




